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(BB TIRBERE D,
B2 @V, +V,+V, = I0V(KCVER)
FilAVs = 10~1—-4=5.0 V
MR +R: = Rs
HRV:/Vi =R: /Ry
BrElR: = 4R,
HiE Rs = Ry +R: = 5R;y
Ri38BA 50Q , R E1E 200Q ,
R QI —50Q K% —200 QM LIET] 250Q

(@A R: By IRBEHE
Ve = 10V —-1.0V—-4.0V
=50V
R =50Q , R, =200Q, By =2500Q
_ 10V
g 1_50+200+250
_ 1o _
I = 500 = 20mA

d}P=I?R=1IV
= 20mA X 10V =200 mW
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©F = TSR sRs — 1706 ~ = 132.4 oW
P,  38.9
—_—= =29.4%
P, 132.4

MEEE f08K, R, =1.00kQ, R; =2,50k0Q, Ry =4.00kQ (A, Va=
12,0V, —BUFSFERERZ M4 2M , BEEBRCHAER@5000Q O
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: R AR FR;
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TH:+Rs
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(R +R+ R )
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SV = « Vy

+ 12=10.4V
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+J_ ™ |\ ‘] R, =100Q
sov E ik, 3k Ri=5000
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! e -~ R3 =200Q
4 R, 5 € R, =1000Q
FtE @S HEEN L B
HOEREY- 187 =0l N
(C)R, %Eﬁ?ﬁ%
d)3 & 4 HoBERE
7 .
8 @1, =1, = 15.0V _ 15,01 - 12. 1mA

Ri+R,+R:.//Rs 1243 Q
Ver @ 1R =12, 1mAX 100Q=1.21V
Ve + IsRe =12, 1lmAX 1000 Q=12,1V
Vee=Vrs ¢ 15,0V —-12,1 V/— 1,21V =1, 69V
Iy =I;=12.1mA

Ver 169V
[; . Rz —m—l:ﬂ;m{%
L Ves_ L9V
iy=1;: % T 300g = 8-4SmA
_(Ves )% _ (1.69V )2
(C)Pp; = s =300 = 14, 3mW

(d)Va_4 = lS,OV—Vg,
15.0V—-1,21V
=13,79V
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R: =1.0KQ
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Vs =16V

-1 BRERE2-B(ME)PNARAMBZHMWEHZEAXTHED2K!1.00m
#y B#% , #Weston cell BRI ( 1.018V ) B B+ , AIEEAR
84.3cm HEE T & , —KMEERITE 4. 3cm @ ENTH , HEERNERE .

B BEROBERV:

44.3

Vi =343 X 1,018V =0,535 V

28 179550000, WEDEO. 100mAR R IR, R FH— L MIEILE , oA
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Re = 505.0/{x
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1 10mA 50,500 =Ry +R: +Rs + R

2 25 20,20 =R;+R;+R.

350 10.1  =Rs+Rs

4 160 5.05 =R,

Ry =5.05Q

R; =10,1-5.05=5.05Q
# = 20,20-10,1=10,1Q
Ry = 50,50--20,20=30,3Q
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© 009 = 1=z
1.67KQ x
> 1.67KQ=( 1,67KQ+0.1 KQ )X
> x=9449

2R 94.4 LR



o5 wWimwmeE T

-10 —EFERERm R R ER R bR REE LR TR
(@F G 1.OOVEHER SO A, MEERHIEEREZY .
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1.00V

m— 4
¥ <a>R—50”A 2x10¢Q
R 1 N .
(b)R, =T = R:=2%10'Q

-1 —BIEBEABRTHT INRHGH
VB =90 | 4
_"Illlll——
v, R=5.0KQ
R

Cell
WVEFHEBLER, CEEHRUATHRSEE , 4E#HeE , B
( Cell) HEWFIHEH0 QAR Q, HABKNKBEIE , HRE

BEHUAER0
] %V
® .0 =- = 17.93mA.
200 5.0KQ+ZOQ

%V -
Lt =Sognmaon = |7-36mA
pro o 17:86=17.93
%="17.03mp - 0-39%

2-11 B®Ve=9.0V,R=0.50KQ EEZEEIIHHA
9.0V

¥ w0 =555r0z00= |73 mA
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Log = 5oomgs aog = 6-67mA
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RC=10X10%0,2X107%=2,00
Iun{ :214/10)<106=2.4;LA
i =2.4 uAe~*"7

t =0.00 sec i =24 uA

t = 0,01 sec i =2,4 pAe-00n
=2.388 zA

t =01 sec i =2,4ule- "1t
= 2.283 A

t = L0 sec i =2.4upe-10"
=1.456 A

t = 10,0 sec i =2, 4ufe-"
=0.016 A

—0.015 4 F BARETH 2 | %OBIES® 10MQ 1) LMQ ©

IKQ HEERRES A ?
HQ=Q,e '/

t
0.0l =¢ '/ = -—— = 4,605
RC

1t =4.605%x0,015 uxXR
=6,91 X10-* R sec

(@ R=10MQ
t =0.691 sec
MR =1 MQ
P =6.91x10-°x 10" sec
= 0,069] sec
COR=1 KQ

t = 6,91 x10-* x 10*? sec
=6,91x10-* sec

-

2-15 FHEABBIIRZMAIREER,

M @T=RC=10"x0.015X10"* sec

=0.15 sec
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WT=RC=10*x0,015x 137° sec = 0,015 sec
©)T=RC=10*x0,015x10"° sec = 1.5 x 107% sec

—HEBRC MR EE— 25V DCEE , —50KQ B, B—0.035 s FH
o

(Ft S BR R E B .

LEt EEEREH ENBRMEE, £8H0,1,2,3,4,5 % 0ms REE
(CFHEL 0N FE 5 B RE I

@T=RC=50%10¥x0.035X 10"¢ = 1,75 X 10-* sec

(b)Vg:Ve“/RC s IR:IC :I_R/_e-r/kc

Ve=(1l—e-t/% YV
t =0ms : Vpg=V=25V
Ix =1c =0.3mA
Ve =0V
t =ims : Ve =25V, e " =141V
Igx =1c =0.5mAXe~ /" =0.28mA
Vem(1l—e ") c25V =109V
t =2ms; Vg =23VXe-"® =79V
[ =l =0.5mAXe " #"" =0.159mA
Ve = (1 —e-211 ) x25 V = I7.03 V
t =3ms: Va=25Vxed/ " =4,5V
Ie =Ic =0.5mAxe~*"" = 0,09 mA
Ve =(1—-e-%"")xX25V =205V
t =4ms : Vy=25Vxe—*'t =254V
Igx =1Ic =0.5mA x e~ 4" =31 pA
Ve = (1l —e~*"" )x25V=2246YV
P =5ms V=25V X 3" =144V
Ip =Ic =0.5mA X e~1" = 28,7 pA
Ve =( 1—e/As )x25V = 23,56 V
t = 10ms : Ve=25VXe %" =83mV
In=1Ic=0.5mAxe=1"/1" = 1,65 uA
Ve=(1—-e-1007 Y25V = 24917V
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(€)1 ::%e“‘/"75 =292 s - =498

T 50% 10°
Ve=—498%X50X 10*=—-24.9 V. :—‘VR:24.,9
t,ms i=—498¢™"% y,-50x 102 Xi Ve=—Vg

0 — 498 uA —24.9v 24.9v
1 —281 ~14.1 14,1
2 ~159 ~ 7.9 7.9
3 ~90 ~ 4.5 4.5
4 ~51 — 2.5 2.5
5 ~29 - 1.4 1.4
10 ~1.6 .~ 0.08 0.08

2211 EFHIE, BBRBLBISV, BIH20MQ, BEAS0.05 uF,
B @ 7=RC=20%x10°%0.05X10"° =1 sec

(b) 1‘&1%:71;—63-'/”C :%f—lo«e—:o.wxlo* A=0.75 A
t,ms  i=0.75e 10 Vp=20Xi Ve=15-V,
0 0.75 #A 15 Vv 0 v
1 0.749 14.9 0.1
2 0.7485 14.97 0.029
3 0.7478 14.96 0.045
4 0.747 14.94 0.059
5 0.746 14,93 0.075
10 0.743 14,85 0.15

©
t,ms 1=—0.75¢" /1 Ve=—20X4 Ve =—Vs

0 —0.75 pA -15 VvV 15 v
1 —0.749 - 14.9 14,9
2 —0.7485 - 14,97 14.97
3 —0.7478 —14.96 14.96
4 —0.747 —-14.94 14,94
5 .—0.746 —-14.93 14.93
10 —0.743 —-14.85 14.85
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(B EASEK PR RS B
(WE B BAIKO0.1.2,4,8, 10ms HEIURER LHBRBEANRR .

‘ . 2H
A a)f = o s T ~3 o =
. @T=L/R=jisce =2X107°s = 2m sec
DVe = Vi (1e-%4 ) (2-33) %
VL =Vieg-tRA (2-34 )R
In = I =t (1 —e=t*)
t =0ms : Ve=0V V=12V
I =1L =0A

P =1lmsg  Ve=4.T2V VL =728V
I =/1L =4.72mA
t =2ms Ve =759V Ve =441V
Ig =1L = 7.59mA
t =dms ; Ve =10.38V Vi =162V
Iy = I, = 10.38mA
f=8ms : Ve==11.78V V. =02V
Te =1, = 11,78mA
f=10ms : Ve=11.92V V. =0,081V
Ip =1L = 11.92mA

-19 FETIS SR, SRR AMAS 5

A, Hz R, Q C, uF

(a; 1 20,000 0.033
(b . 10° 20, 000 0,033
() 19° 20,000 0.033
() 1 200 0,033
e) 10° 200 0.033
if) ' 10¢ 200 0,033
8 1 2,000 0.33

) .1 2,000 0.33

(i) 10¢ 2,000 0.33
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@Ay AR A

WX = S e Z=BFXT
¢ = —anTle
(X, =4.8MQ Z= 4.8MQ $=—=—89.76°
bIX, = 4. 8KQ Z=120.57TKQ ¢ =~ 13,50°
©)X. = 4.8Q Z = 20KQ ¢=—0.014°
(X, = 4.8MQ Z= 438MQ & =—89.9976°
€)X, = 4.8KQ Z= 4.8KQ é=—87.61°
(HX. =4.8 0 Z=200.1Q $=—1.375°
®X. = 480 KQ Z = 480KQ ¢=—89.76°
(X =480 Q Z= 2.06KQ é=—13.50°
(DX. =0.48Q Z= 2KQ ¢=—0.0138°
-0 FHETIRWERORE ., MAREAS .
HAE , Hz R,Q L, mH
(a) 10 2000 50
{b) 10* 2000 50
() 10° 2000 50
G) 10° 200 50
) 104 200 50
(t) 10° 200 50
& 10¢ 200 5
() 10+ 200
() 10° 200 5
B X.=2z7L, Z =/ RT+X,?
¢ = tan“-wwL
R _
(@X,=314Q Z = 2,028KQ ¢ =8.92°
Xi= 3.14KQ . Z = 3.72KQ ¢ = 57.5°
©X= 31.4K0Q Z = 31,46 KQ ¢ = 86,36°
dX=314Q Z=312Q ¢ =57.5°
(e) Xi= 3. 14KQ Z = 3.15KQ $ = 86.36°
(f)X= 31,4K0Q Z =31 .4KQ ¢ = 89.64°



